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Background
As per [1], we provide our simulation results for inter-cell MMSE-IRC receiver.
Simulation results 
Synchronized 
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Figure 1: Simulation results for Homogenous deployment scenario
HetNet depolyment scenario
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Figure 1: Simulation results for Homogenous deployment scenario
Table 1: Summary of simulation results
	Deployment
	Number of receiving antennas
	INR
	SNR@70% of maximum Throughput(dB)
	Gain
(dB)

	
	
	
	MMSE-IRC
	MMSE-MRC
	

	Homogenous
	2RX
	INR1=7.77dB,INR2=2.29dB
	11.99
	14.05
	2.06

	
	
	INR=5.49dB
	8.91
	11.05
	2.14

	
	
	INR1=5.43dB,INR2=-1.5dB
	10.16
	11.73
	1.57

	
	
	INR=3.1dB
	8.07
	9.45
	1.38

	
	4RX
	INR1=7.77dB,INR2=2.29dB
	6.40
	10.77
	4.37

	
	
	INR=5.49dB
	4.31
	8.00
	3.69

	
	
	INR1=5.43dB,INR2=-1.5dB
	5.40
	8.55
	3.15

	
	
	INR=3.1dB
	4.04
	6.22
	2.18

	HetNet
	2RX
	INR1=11.39dB,INR2=5.45dB
	13.19
	16.09
	2.90

	
	
	INR=4.84dB
	7.72
	9.73
	2.21

	
	4RX
	INR1=11.39dB,INR2=5.45dB
	5.96
	13.24
	7.28

	
	
	INR=4.84dB
	         3.43
	         6.72
	    3.29



Asynchronized 
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Conclusion
In this paper, we provide our simulation results for inter-cell MMSE-IRC.
Reference 
	[1]  R4-2120707 WF on general and PDSCH demodulation requirements for inter-cell interference MMSE-IRC
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